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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & # T (GEEM)
EHE R
= 1 98, 949, 064
JE T
Gt IR b X))
= 1 4,032, 194
P AT
= 1 4,032, 194
FEHIA (h=27) -+ £50, 000m3 A
= 1 835, 380
B S AVHE T O ALE]
= 1 448, 110
b TE b Cash ERIRY L&)
= 1 2, 748, 704
PERE T
Gt IR b X))
= 1 16, 709, 666
EE LT
(FE{T UL-1)
Ry 0 0
EE LT
(FE{T UL-1)
= 1 153, 780
EE LT
(JEAT UR-1)
Ry 0 0
EE LT
(JEAT UR-1)
= 1 153, 780
ST
(FE{T UL-1)
= 1 124, 205
HEEAL B HiFE 1200mm
ZN 4 25, 026 100, 104
FHIA (7)) -k
m3 5 1,086 5, 430
-1- ELAREE sk B
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THEX Sy« TH - FERI - HH50 MoK T B B G AT G| T (GEEM)
eI )= EFR & E D Z b L
m3 5 861 4, 305
ALy v -k (JER%)
m3 5 2, 569 12, 845
SCHA b EH N3 8R A5
= 1 1,521
ST
(JEAT UR-1)
= 1 124, 205
[IE A HiFE 1200mm
VN 4 25, 026 100, 104
FHIA (7)) -k
m3 5 1,086 5, 430
Prau kil )= EFR HEEm E D Zb L
m3 5 861 4, 305
ALy vy -k (TR
m3 5 2, 569 12, 845
SCHA e N3 8R A5
= 1 1,521
Sa P FIERE 1
(FE{T UL-1)
= 1 7,552,941
FERREA AT 9v47740~0 BIE 0. 2m
m2 66 1,317 86, 922
¥ Layy)-}h 18-8-40 (F47) HJE 10cm
m2 66 3,478 229, 548
av)-p 24-12-40 (& 47)
m3 89 28, 852 2,567, 828
av)-p 24-12-25(20) (% JF)
m3 42 28, 852 1,211,784
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT G| T (GEEM)
i78:11] SD345 D13 (GZfadh) FANL D F
t 0.58 45, 552 26, 420
i78:11] SD345 D16~25 (GZi#hdn) FHSZD
T
t 3.75 45, 552 170, 820
i78:11] SD345 D29~32 (GZihdn) FHSZD
T
t 8.6 45, 552 391, 747
Tl — AT
= 1 1,901, 550
) Bty ML
= 1 771, 460
H Hi VB HRME R B HiA t=20
m2 6 4,522 27,132
KN A7 VP ¢ 75 74ivp-4E
m 2 689. 6 1,379
W H U BE IR t=50mm
m2 9 2,961 26, 649
B A SD345 D13 (GZfadh) FANL D F
t 0.23 45, 552 10, 476
B A SD345 D16~25 (GZ#adh) HIST o
T
t 0.21 45, 552 9, 565
SCHA S E N3 8R A5
= 1 119, 661
Sa P FIERE 1
(JEAT UR-1)
= 1 7,881, 231
FERREA AT 9v47740~0 BIE 0. 2m
m2 66 1,317 86, 922
¥ Layy)-}h 18-8-40 (F47) HJE 10cm
m2 66 3,478 229, 548
-3- ELAREE sk B
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT G| T (GEEM)
avp)-p 24-12-40 (G 47)
m3 89 28, 852 2,567, 828
eV 24-12-25(20) (% JF)
m3 42 28, 852 1,211,784
i78:11] SD345 D13 (GZfadh) FANL D H
t 0.58 45, 552 26, 420
i78:11] SD345 D16~25 (GZi#hdn) FHSZD
T
t 3.75 45, 552 170, 820
i78:11] SD345 D29~32 (GZihdn) FHSZD
T
t 8.6 45, 552 391, 747
Tl — AT
= 1 1,901, 550
e Bty ML
= 1 771, 460
H Hi VB HEME R B i t=20
m2 6 4,522 27,132
KN A7 VP ¢ 75 74ivp-4E
m 2 689. 6 1,379
W H U BE IR t=50mm
m2 9 2,961 26, 649
B A SD345 D13 (GZfadh) FANL D F
t 0.23 45, 552 10, 476
B A SD345 D16~25 (GZ#adh) HIST
T
t 0.21 45, 552 9, 565
SCHA e N3 8R A5
= 1 119, 661
RAR SRS Slin b LR A AR
m2 310 1,059 328, 290
-4 - ELAREE sk B
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT G| T (GEEM)
TH M- A
= 1 118, 686
PR D +w
= 1 1,762
ML R
= 1 8,577
b TE b Cash ERIRY L&)
= 1 1,753
B S AVHE T O ALE]
= 1 574
T IR AT i GL:8m~12m 350kg#B&1000kgLh T
B E &
H 1 14, 733 14,733
NV RiR— Ui 2000kg/FELA T
H 1 12, 188 12,188
T i R 2 FEP 50mm
m 20 57.83 1,156
B2 20mmPL T
m 20 1,273 25, 460
St A 179477 RC-40 4 E v JE100
m
m2 8 428.9 3,431
HEL PREERD
m3 3 8, 468 25, 404
M AL R FEP 50mm
m 14 416. 2 5, 826
B N B CVr=7" I (BOOVERAZR V=77 W) 3.l
600V 2. 0mm2 X 3C i JH
m 14 1,273 17, 822
MRS EE A
= 1 488, 564
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THEX Sy« TH - FERI - HH50 MoK T B B G AT & # T (GEEM)
ZKHE K& i VU ¢ 250
m 68 271.3 18, 448
L5 NFLE
H 3 12,188 36, 564
I RR K Bid 8 A 7% - i VU ¢ 250
m 69 3,952 272, 688
RFTHERRE - 2 1500 X 500 X 1500
H 4 40, 216 160, 864
X
= 1 53, 252
AEERR S TATTVMEEERR AZERRIE Sem
m2 60 684. 4 41, 064
NFLIE L5 NFL s
H 1 12, 188 12,188
FSAVENDS &1 5|
= 1 59, 022
B 2 - 15 1R H=1. 8m W=2. Om (FFFI| %)
m 54 1,093 59, 022
PERE T
(FE"E H H1X)
= 1 17, 380, 980
EE LT
(U-1)
Ry 0 0
EE LT
(U-1)
= 1 140, 203
EE LT
(U-2)
Ry 0 0
EE LT
(U-2)
= 1 135, 036
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THEX Sy« TH - FERI - HH50 MoK T B B G AT G| T (GEEM)
EE LT
(U-4)
= 0 0
EE LT
(U-4)
= 1 218, 760
BERAT T
(U-1, U-2, U-4)
= 1 428,917
FUERALER FEEE 800mm
VN 19 22, 047 418, 893
SCHA e L FEEA . Tk kb AN
g =
= 1 10, 024
Sa P I ERE 1
(U-1)
= 1 4,043, 726
FERREA AT 9v47740~0 BIE 0. 2m
m2 57 1,317 75, 069
¥ Layy)-}h 18-8-40 (F47) HJE 10cm
m2 57 3, 487 198, 759
eV 24-12-40 (& 47)
m3 68 28, 852 1,961, 936
av)-p 24-12-25(20) (% JF)
m3 12 28, 852 346, 224
A SD345 D13
t 1.02 151, 141 154, 163
ERAR SD345 D16~25
t 2.63 149, 319 392, 708
Tl — AT
= 1 869, 280
H Hi VB HRME R B HiA t=20
m2 6 4,522 27,132
-7 - ELAREE sk B
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THEX Sy« TH - FERI - HH50 MoK T B B G AT & # T (GEEM)
KN A7 VP ¢ 75 74ivp—4E
m 1 689. 6 689
W H U BE RS t=50mm
m2 6 2,961 17, 766
S PTFIHERE 1
(U-2)
= 1 4, 856, 201
FERREA AT 9v47740~0 BIE 0. 2m
m2 61 1,317 80, 337
¥ Layy)-}h 18-8-40 (F47) HJE 10cm
m2 61 3, 258 198, 738
eV 24-12-40 (& 47)
m3 74 28, 852 2,135, 048
eV 24-12-25(20) (% JF)
m3 19 28, 852 548, 188
Y] SD345 D13
t 1.28 151, 141 193, 460
ERAR SD345 D16~25
t 3.29 149, 319 491, 259
Tl — AT
= 1 1,177, 150
H Hi VB HRME R B HiA =20
m2 3 4,522 13, 566
KN A7 VP ¢ 75 74ivp-4E
m 1 689. 6 689
W H U BE RS t=50mm
m2 6 2,961 17, 766
Sa P FIERE 1
(U-4)
= 1 7,558, 137
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THX Sy - THE - RSB - Bl MoK T B B G AT & T (GEEM)

FERREAY AT 9v47740~0 BIE 0. 2m

m2 64 1,317 84, 288
¥ Layy)-}h 18-8-40 (F47) HJE 10cm

m2 0 3, 495 0
¥ Layy)-}h 18-8-40 (F47) HJE 10cm

m2 64 3,216 205, 824
eV 24-12-40 (& 47)

m3 76 28, 852 2,192, 752
avp)=p 24-12-25(20) (% JF)

m3 40 28, 852 1, 154, 080
Y] SD345 D13

t 1.76 151, 141 266, 008
ERAR SD345 D16~25

t 4.92 149, 319 734, 649
Tl — AT

= 1 2,173, 200
) Bty ML

= 1 680, 700
H Hi VB HRME R B HiA t=20

m2 10 4,522 45, 220
KN A7 VP ¢ 75 74ivp-4E

m 1 689. 6 689
W H U BE RS t=50mm

m2 7 2,961 20, 727

A T
= 1 57,979, 810
EE LT
= 0 0
-9 - ELAREE sk B
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THEX Sy« TH - FERI - HH50 MoK T B B G AT & # T E (A5
EE LT
= 1 2,185, 711
7" Ay AMAERE T
= 1 12, 366, 998
7" VA ALMAERE 1. Om%Z 8 2. OmLL T
(TR LX)
m 48 76, 254 3, 660, 192
7" VA ALMAERE 1. Om%Z 8 z 2. OmLL T
(UAE LX)
m 98 76, 955 7,541, 590
B avs)-p 24-12-25(20) (% JF)
m3 6 125, 450 752, 700
BT Tavy)-b 24-12-25(20) (% JF)
m3 4 103, 129 412,516
/)N =47 my ) T (aV))=b7 7wy ) FE)
= 1 7, 848, 984
Bl T 32 -h 18-8-40 (Fi47) JENE 44em mE 2
5cm
(A-1)
m 100 7,478 747, 800
Bl T 32 -h 18-8-40 (#i47) JENE 43cm m & 2
5cm
(A-2)
m 33 6,915 228, 195
KT ny ) FE 2 % 35cm
m2 212 13,592 2, 881, 504
A - B3R )~} 18-8-40 (i 47)
m3 29 34, 874 1,011, 346
JIRSA - AR () PR RC-40
m3 117 3,935 460, 395
BT RKia ) -h 18-8-40 (i 47)
(A-1)
m3 8 66, 095 528, 760
BT RKia ) -h 18-8-40 (i 47)
(A-2)
m3 3 66, 132 198, 396
- 10 - ELAREE sk B
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THEX Sy« TH - FERI - HH50 MoK T B B G AT & T (GEEM)
T4 W=303 ¢ 19 2% %A
& 52 6,961 361,972
FEEEMZR 18-8-40 (i 47)
m3 24 59, 609 1,430, 616
iy
= 1 474, 221
KB R PCARZE W-1500XL-1000 t=150
bie 11 43,111 474, 221
a/))-pE T
= 1 5, 502, 306
FERREA AT 9v47740~0 BIE 0. Im
m2 710 1,136 806, 560
Favy)-h 18-8-40 (#47) t=150mm
m2 709 6, 590 4,672, 310
H Hi B HEMEE B i =10
m2 7 3, 348 23, 436
MR REK L
= 1 19, 678, 478
FERREA AT Y47 740~0 I 0. 2m
m2 290 1,317 381, 930
JEERR 7Y =h 24-12-25(20) (% JF)
m3 71 39, 010 2,769, 710
Tl — AT
= 1 170, 877
A SD345 D13
t 1.04 151, 141 157, 186
ERAR SD345 D16~25
t 1.76 149, 319 262, 801
- 11 - ELAREE sk B
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & # T (GEEM)
H Hi VB HRME R B HA t=20
m2 4 4,522 18, 088
1EZKAR CF (L™ 1) 200 X5
m 14 2, 566 35, 924
i A B2000 X H800 X L2000
VN 40 299, 641 11, 985, 640
AL Y5 AFL H-680
H 1 145, 580 145, 580
7" VEy AN RE t£=200mm
VN 6 116, 522 699, 132
TEfRAT7 B1980X L2000 t=150
bie 20 102, 674 2,053, 480
AN =bayy)=p 18-8-40 (i 47)
m3 30 33,271 998, 130
By I = (TAEHLX)
= 1 9,678,512
7 VEYANE A PfE 0.8m PNE 0.8m
m 35 192, 508 6,737, 780
7 VERAME ) AR R [ YNOES
m 18 163, 374 2,940, 732
A7 4 Ak
= 1 244, 600
A7 4 Ak
T 1 244, 600 244, 600
% T
= 1 2, 846, 414
RImE T
= 1 2, 846, 414
- 12 - ELAREE sk B
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)
AR FE AR B
= 1 2, 846, 414
B L
= 1 98, 949, 064
B ST e ¢
= 1 16, 494, 245
BTl TE:
= 1 6,091, 588
Htre m
= 1 5,097, 698
B M R FEART IR
= 1 53, 569
SRR A AT R BR R
= 1 435, 172
ST T » 3R ITa% it -4
DYERLE A (ICT)
= 1 1,973, 029
ST R B - i - SN
LD A (1CT)
= 1 995, 734
BIM/CIM;iE T4
= 1 1, 364, 524
=R R
= 1 275, 670
BUGERRYCEE (K5 1)
= 1 993, 890
HimE R (FE L)
= 1 10, 402, 657
Wi
= 1 115, 443, 309
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)

BTk X=giib

= 1 35, 864, 874
R 5]

= 1 151, 308, 183
— e

= 1 23,721, 817
T HAlik

= 1 175, 030, 000
TH & B 2 %8

= 1 17, 503, 000
TG

= 1 192, 533, 000
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